
 

 

Answer on Question #62848 - Chemistry - General Chemistry 

How many iodine atoms are present in 8.91 moles of iodine molecules? Give your answer in 

scientific notation. 

 

Solution 

Each iodine molecule (I2) consists of two iodine atoms. Therefore, the amount of iodine atoms: 

 

𝝂(𝑰) = 𝟐×𝝂(𝑰𝟐) = 𝟐×𝟖. 𝟗𝟏 𝒎𝒐𝒍 = 𝟏𝟕. 𝟖𝟐 𝒎𝒐𝒍 

 

To find the number of atoms, we should use the Avogadro number: 

 

𝑵(𝑰) = 𝝂(𝑰)×𝑵𝑨 = 𝟏𝟕. 𝟖𝟐 𝒎𝒐𝒍×𝟔. 𝟎𝟐×𝟏𝟎𝟐𝟑 𝒎𝒐𝒍−𝟏 = 𝟏𝟎𝟕. 𝟐𝟕𝟔𝟒×𝟏𝟎𝟐𝟑 ≈ 𝟏. 𝟎𝟕𝟑×𝟏𝟎𝟐𝟓 

 

 

Answer:  𝟏. 𝟎𝟕𝟑×𝟏𝟎𝟐𝟓 
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